4 VCE & PDF https://lwww.geekcert.com/1z0-920.html
' 2024 Latest geekcert 120-920 PDF and VCE dumps Download
2 GeekCert.com

170-9209%As

MySQL 2019 Implementation Essentials

Pass Oracle 1Z20-920 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1z0-920.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-920 Dumps | 120-920 VCE Dumps | 1Z20-920 Practice Test 1/3


https://www.geekcert.com/1z0-920.html
https://www.geekcert.com/1z0-920.html
https://www.geekcert.com/1z0-920.html

VCE & PDF https://lwww.geekcert.com/1z0-920.html
2024 Latest geekcert 120-920 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which query will find rows in a table that have no counterpart in another table?

A. SELECT *FROM tablel INNER JOIN table2 ON tablel.id=table2.id WHERE tablel.id=! table2.id;

B. SELECT left_tbl.*FROM left_tbl LEFT JOIN right_tbl ON left_tbl.id=right_tbl.idWHERE right_tbl.id IS NULL;
C. SELECT tl.name, t2.name2FROM employee AS t1 INNER JOIN info AS t2 ON tl.name= t2.name2;

D. SELECT tl.name, t2.name2FROM employee t1 INNER JOIN info t2 WHERE t1l.name=t2.name;

Correct Answer: B

QUESTION 2

Which three components can MySQL InnoDB Cluster use to Achieve database high availability?

A. MySQL Servers with Group Replication to replicate data to all members of the cluster.

B. MySQL Online Hot Backup to keep data consistent and always ready to be used.

C. MySQL Shell to create and administer InnoDB Clusters using the built-in AdminAPI.

D. MySQL X Plugin to enable MySQL to use the X Protocol to speed up and monitor data replication.
E. MySQL Router to ensure client requests are load balanced and routed to the correct servers.
Correct Answer: ACE

https://lwww.sglshack.com/deploy-mysql-innodb-clusters-for-high-availability/

QUESTION 3

What SQL keyword must be specified when creating a foreign key constraint?
A. a TRIGGER on the child table for cascading delete statements

B. a REFERENCES in the child table to the parent table

C. unigue PRIMARY key values for both child and parent tables

D. the SET_FOREGIN variable in the my .cnf file

E. an index on the foreign key

Correct Answer: A

QUESTION 4
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Which MySQL Enterprise Edition plug-in replaces real values with substitutes?

A. MySQL Enterprise Audit

B. MySQL Enterprise Scalability

C. MySQL Enterprise No-Login Authentication

D. MySQL Enterprise Transparent Data Encryption (TDE)

E. MySQL Enterprise Data Masking and De-identification

Correct Answer: E

New! MySQL Enterprise Masking and De-identification MySQL Enterprise Masking and De-identification provides an
easy to use, built-in database solution to help organizations protect sensitive data from unauthorized uses by hiding and
replacing real values with substitutes.
https://www.mysqgl.com/products/enterprise/#:.~:text=New!andtext=MySQL%20Enterprise% 20Maskin

g%20and%20De%2Didentification%20provides%20an%20easy%20to,replacing%20real% 20values%?2
Owith%20substitutes.

QUESTION 5

By using the asynchronous MySQL Replication architecture, data can be replicated to slaves. Identify three use cases
of MySQL Replication.

A. MySQL Replication Connector/J (ReplicationDriver) is provided to allow read capability on slave and write capability
on master.

B. MySQL Enterprise Backup will back up from Slave automatically.
C. It provides multi-master access where the application can write and read data across the database servers.
D. It allows backup to be done on the slave without impacting the master.

E. You can create a slave server for reporting applications, which get only read access to the slave servers. It off-loads
the master server. Additional servers allow different database server configuration.

Correct Answer: BDE
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